5-REVIEW Part 1 Name:

1.) What formula is used to find each of the following?
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2.) Identify the center and the radius of the circle. Ay
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3.) Write the equation of the circle.
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4.) What is the equation of the circle in standard form: x% + y%2 + 18x — 24y + 189 = 0
I Gy £] +y P29y 1T ~-189 451

(Y

Equation

(%23 )

Center (_ ql ( 7«\

’ & 3
Y ' =12 =
- {56 (e )+ (y-12) ¢

M7 AL Yz
5.) Find the distance between the pair of points: (—3,2) and (2,—1). (leave in radical form)
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8.) What are 2 appropriate way to prove a parallelogram is a rectangle?
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What are 2 ways to prove a quadrilateral is a parallelogram?
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What are 2 ways to prove a triangle is a Right Triangle?
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9.) Asegment has endpomtsX( 4 -4) andY(4 2) Find the coordmates of pomtTthat is 5 of the way from Xto V.
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10.) Find the coordinates that partition the line Ay
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12.) Graph the circle. State the center and radius.

x2+y2—8x—2y+6=,(2'

&

XLXZ % e / /+( = ol s f
T (X’WLM\/-/)V I
C%l_\ -ux

N\N

-




13.)Quadrilateral ABDC has vertices A(1, 5), B(5, 8), C(11, 0), and D(7, -3).

a.) PROVE that the quadrilateral ABDC is a parallelogram. |
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Therefore, ABDC is a parallelogram because:
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b.) PROVE that quadrilateral ABDC is a rectangle.
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Therefore, ABDC is a rectangle because:
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14.) Circle C has a center of (=3, 1) and a radius of ) e——
Does the point (=7, —2) lie inside, outside or on circle C? e
Show algebraic evidence to support your answer.
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Therefore, the point lies (inside / on / outside) the circle because:
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Geometry Name

Unit 5 REVIEW Part 2 [ X (\// . \/\\] = Z Date Period
Identify the CENTER of each. - .1 (1, k)
15) (x+5)+(y-1)"=49 16) (x +5)*+ (y +9)* =100
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Identify the RADIUS of each.

17) (x =11+ (y+12)*=9 18) (x = 8)*+(y=7)*=36
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Use the mformatlon provnded to write the equation of each circle.

19) Center: (11, —14) 20) Center: (2, 7)
Radius: 2 Radius: 3
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Write the slope-intercept form of the equation of the line described.

21) through: (—1, 1), parallel to y = x + 1
A) y=2x+2 %\X,ff}ff‘"z
C = "_3 Tt 2 ) = -;|—‘<2

y=e )~%} f,/.> A) y=2x-2 B) y= %x 2

g\bd(ﬂ \/\C (‘( ) \ 0 Az | /ﬂﬂ\ -»4;;—...,4\‘\
C) y=—2x-2 (‘«D)y:—gx_ZD

22) through: (—2, 5), parallel to y = — %x -3
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23) through: (3, —3) parallel to y = -2x + 4 — .-, 4k
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Write the slope-intercept form of the equation of the line described.

1 25) through: (—4, 3), foy=4x-2
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